E= MC2
The private Existence Algorithm allows for Existence to have two states in depth—free and bound (Existence that  cannot move due to other Existences obstructing it in the neighboring cells, in accordance with the Third  Law—the  Law of Non-Mixing).

Free Existence = Change  (Energy). This is  indicated by the units  Exfr

(A contraction of  the beginnings of the words “Existence” + “free”)

Existence that is obstructed  within the  system = mass =  potential  change (potential energy). This is  indicated by the units Exob 
(A  contraction  of the beginnings of the words  "Existence" + "Obstruction").
The overall number of Existence in the system (obstructed + free)  is indicated by the units Ex.
The maximal potential for change  in the  system = potential change  (Obstructed Existence = the  mass) + change  (Free Existence)

According to the private Existence Algorithm (The Seventh, Eight, and Tenth Laws), if Existence is not obstructed, it must move between the cells and create change. Therefore, any obstruction (mass) that decays must convert to change (energy).

And conversely, any pattern of free Existence that forms an obstruction within the system – will convert change (energy) into obstruction (mass).

Energy is the potential of mass, just as mass is the potential of energy.
The quantity of obstructions is measured by the number of times that Existence moves from its place in a given space-depth. Its units are ob (an abbreviation of the word “obstruction”). We must note the distinction between the  quantity of obstructions and the quantity of Existence that is obstructed. These are two distinct concepts. One Existence can be  obstructed a number of times in a given space-depth. Therefore, in general, the number of obstructions is greater than the number of obstructed Existences. The obstructed Existences  are the mass, and not the number of obstructions.
Change (energy) is measured by the number of changes and substitutions of Placeholder-Existence in a given space-depth. Its  units  are ch (an abbreviation of the word “change”).

An  example  of calculating  a system with pure change (energy):

The number of free Existences: 5 Exfr

The number of obstructed Existences: 0 Exob

Resolution: R(10)

The number of turns in depth that contain the unit of time of the observer: 10 tu

The number of cells in space that contain the measured unit of time: 10 cl

(Explanation: The Sixth Law (Symmetry of Space-Depth) requires that at resolution 10 any imaginary cell will in essence be a contraction of 10 cells in depth and 10 cells in space.)

What is the change (energy) of the system?

5 Exfr*10*10 = 500 ch

That is, in one unit of time of the observer (which constitutes 10 objective turns of the system), 500 changes occurred in  the system (substitutions of Existence-Placeholder in the cells)

Explanation: We can take, for example, a game in which in each turn, each piece moves 10  squares.
How many squares will 5  players move in 10 turns?

500 squares.

This is of course assuming that no piece obstructs another piece.

The pieces are Existence. The squares are cells. 10 squares that a piece moves in a turn represent the resolution of space, and 10 turns represent the resolution in depth.

At the Fundamental Resolution, the speed of the reaction time of the cell is one cell in one turn—1. For a free Existence, there is no possibility of moving at a lower speed than this. At the Fundamental Resolution, the maximum and only possible speed is 1.

The reaction speed of the imaginary cell (composed of two physical  cells) at Resolution R(2) will be two cells in two turns. This is because, at R(2), the Existence must traverse two physical  cells in order to traverse one imaginary cell. At this resolution, the maximal possible speed will still be 1, but it will allow also a speed of 0.5, in a situation in which the Existence enters one of the cells and remains there for one turn due to an obstruction in the second cell.

In the same manner, the reaction speed of the imaginary cell at resolution R(10) will be 10 cells in 10 turns. Also, at resolution R(10), the maximal speed will be 1, but speeds that constitute a tenth of this speed will also be possible, such as the speed 0.1 (in the situation where there is a delay due to an obstruction in 9 cells) or a speed of 0.7 (in the situation where there is a delay due to an obstruction in 3 of the cells).
For sake of convenience, and in order that the speeds will not be expressed as fractions, Binary Physics arbitrarily states that the maximal speed at any resolution is equal in value to the level of the resolution. For example, at R(10), we will state that the maximal possible speed will be 10, and thus there are 10 different possible speeds (depending on the number of obstructed cells within the imaginary cell in states of obstruction)—1,2,3,4,5,6,7,8,9,10…

There is no problem with this statement, since there is no significance to a value of the maximal possible speed, except that it constitutes the reference point for lower speeds….

At the resolution of human systems R(h), the maximal speed in the state where there is no obstruction (there is pure energy) is c, the speed of light. If we translate this into Binary Physics, then the maximal possible speed is equal to the resolution, and thus R(c) = R(h). c is the maximal speed in which an imaginay particle can travel from one imaginary cell to another at this resolution. One imaginary cell at resolution R(h), is composed of a huge quantity of physical cells at the Fundamental Resolution. Therefore, due to obstructions (among the physical cells that contain the imaginary cell), many levels of speeds are possible that are lower than the maximal possible speed, but it is understood that there is no possibility of moving at a speed higher than this speed.
According to the Sixth Law (Time Symmetry of Space-Depth), any movement of Existence in space requires that there also be a simultaneous movement in depth. Therefore, the number of turns that will transpire in the passage of the particle from one imaginary cell to another, must also be c.

At resolution R(h), the following formula results:

Change (Energy) = The number of free Existences * c (the speed of reaction time of the imaginary cell in space in terms of R(h))*c (the speed of reaction time of the imaginary cell in depth in terms of R(h))

Change (energy) = Exfr*c2
Clarification: I say "one change in space in every turn", even though there are three spatial dimensions. This is because, according to our private Existence Algorithm, in every turn, Existence can move to advance one cell in depth and to advance only one cell in space (regardless of the direction). In one turn, there are not three changes in the spatial dimensions, but only one change. 
An example of calculating the system that contains an obstruction (mass) alongside change:

Total Number of Existences (free and obstructed): 6 Ex

Resolution: R(10) (that is, each imaginary cell contains 10 cells in space and 10 turns (cells) in depth)

Change (Energy) that is measured within the system = 200 ch

What is the obstruction—the number of obstructed Existences (mass)—of the system?
First, we are required to calculate the maximal potential for change of the system if it were without obstructions (mass), that is, if there was pure change (pure energy). We will do this as we saw in the previous example. 

6 Ex*10*10 = 600 ch
The change measured according to the data is 200 ch. Since every Existence that doesn’t move is obstructed, the quantity of obstructions that were in the system is 400 ob.

In order to identify the number of Existences that were obstructed and constitute the mass, we must divide the number of obstructions by the number of cells in depth at the given resolution (10), and then to divide again by the number of turns (cells) in depth (10). Thus we will receive 4 Exob. That is, the obstruction (mass) of 4 Existences in the system. The mass is the number of obstructed Existences in the system (internal obstructions) at the given resolution.

We have seen that if we do not want to measure the quantity of obstructions directly, it is possible to calculate them from the difference between the maximum potential for change (that is derived from the quantity of changes in the system in the state in which there are no obstructions), and the quantity of changes that were actually measured.

That is, according to the number of changes (energy) and the number of Existences in the system, we can know what its mass is.

The complete conversion of obstruction (mass) to change (energy):
Obstruction (mass) = 4 Exob
Resolution = R(10) (that is, each imaginary cell contains 10 spatial cells and 10 cells in depth (10 turns)).

The number of turns in depth that contains the time unit of the observer: 10 tu

The number of cells that contains the measured unit of time: 10 cl

(Explanation: The Sixth Law—the Symmetry of Time and Space-Depth—requires that at resolution 10 each imaginary cell will essentially be a contraction of 10 cells in depth and 10 cells in space.)

Change (energy) = Obstruction (mass) * reaction time of the imaginary cell in space * the speed of the reaction time of the imaginary cell in depth

Change (energy) = Exob*10*10 = 400 ch

In fact, when the obstruction is removed, all of the obstructed Existences are converted to free Existence and start to move. At the Fundamental Resolution, every free Existence moves one cell per turn. At Resolution R(10), every Existence moves in each turn 10 cells, and in 10 turns, which are one imaginary turn at this resolution, it performs 100 changes.

As we have seen previously, at resolution R(h), the following formula results:

Change (energy) = Number of obstructed Existences*c (the speed of the reaction time of the imaginary cell in space in terms of R(h))*c (the speed of the reaction time of the imaginary cell in depth in terms of R(h))

Change (energy) = Exob*c2
And in fact we have received the famous equation of Einstein:
E = mc2

